


VERB TO HAVE (TENER)
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1. Choose the correct form of the verb. Then write the toys.

1. She has/ have a 2. He have/ has a

AFFIRMATIVE NEGATIVE

{yo)l have | don't have
{tu)¥ou have You don't have
(E)He has  He doesn't have
(Ella)She has | She doesn't have
{eso)it has It dossn't have
We have We don't have
They have They don't have

3. She has /have a 4. He have/ has a

5. She has/have a

2. Look at the picture. Read and write T(true) and F(false).

1.He has a red train.
2.She has a red boat.
3.She has a purple tractor.

4. He has a blue car.

3. Look at the picture and write negative sentences.

E.g. She doesn’t have a train.
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She a bus. _l He a boat. _l
' She a bike. * He a truck.
She a helicopter. He a tractor.



